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Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@) (1) Define the following terms:
(1) System Software (ii) Application Software (iii) Operating System
(2) What is BIOS? Explain in detail.
(b) (1) Explain Process Lifecycle?
(2) Differentiate external fragmentation v/s internal fragmentation.
Q.2
(@) (1) Give the name of various available File Structures.
(2) List main functions of Kernel and Shell.
(b)  Write down the major different between the following types of operating
system:
(1) Batch system  (ii) Real time System (iii) Time-Sharing system
OR
(b)  What is Boot sequence? Explain all the steps performed to load
WINDOWS.
Q.3
(a) Listall Process Scheduling algorithms? Explain any one in detail.
(b) List all Algorithms to select Free partition of Memory? Explain any one in
detail.
OR
Q.3 (@) What are various File access methods? Explain any one in detail.
(b)  Explain following UNIX commands with syntax. (Any seven)
(1) chmod (i1) echo (i) cat  (iv) mkdir (v) kill
(vi) grep (vii)mail (viii) sort (ix) cp
Q.4
(@) State all types of OS services and explain any two.
(b) Define the following terms and explain it in detail.
(1) POST (il) MBR
OR
Q.4 (a) Whatis Deadlock? What are various ways to deal with Deadlock?
(b) Explain Segmentation in detail.
Q.5
(a) List various directory operations and describe each in detail.
(b)  Explain UNIX Architecture and describe features of UNIX.
OR
Q.5 (a) Write Shell script for the following :
Any year is entered through the keyboard, write a program to determine
whether the year is leap or not. Use the logical operators  -a and —o.
(b)  Implement simple calculator, which can perform basic mathematical

operations such as addition, substraction, multiplication, division.
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(vi) grep (vii) mail (viii) sort  (ix) cp

oltll YstRell 08 Al Aull, Al 818 Ul A (ARl AHestal.
ol Aetloll cautuul W WA QU Al

(i) POST (ii) MBR

Y9l
Deadlock A2@ 9] ? Deadlock §2 $cll Hl2oll WAL UL Ul
YAl

Ao 2let [Qrcttrll umesAl.

@l SlRsedl Ut AVl WA €350 (ARl alal.

UNIX 3US[25uR AU Aol doll cllat@sdri agial.
YL
(1A esucal YHIBloll Shell script AW SlollS gl ad Betye

wal A o dluaR 8 ¥ o8l A ealadl Vo dvll.All®s w2
-a ol —o ol GUAIL $2A.

AL 3cAsYARR tlolldl ¥ FHL ADs oulQlAs Ut Bal ¥
AR, GULEGLSL, RUSIR, AIUSIR 53 sl

sk sk ok ook ok sk skeoskok ok

03

04
04

04
03

07

07

o

7

07
07

07
07

07

07

07
07

07

07



